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0 $\text{pre}(s)=a s+a {v 1}x~1+a {v_2}x"2+\cdots
a_{\text{rt}}x"~k\text{suf}(s)=a_{rt}+a_{v_1}x"1+\cdots +a sx~k$j0 OO OO OO

$$ \text{suf}(s)-a_{rt}\equiv (y-\text{pre}(s))x" {-k'}(\bmod p) $$

00 $\text{dfs}$ 00000 $\text{pre}(s)\text{suf}(s)$ OO OO $\text{suf}(s)-a {rt}$ O $(y-
\text{pre}(s))x~{-k'}$p0 0000000 0OO

000000000000 00000000000000D0000000 $0(n\log™2 n)$[

const int MAXN=1e5+5;
int x,px/MAXN|,invx [MAXN!,y,Mod;
int quick pow(int a,int k
int ans=1;
k
k&1 )ans=1LL*ans*a%Mod;
a=1LL*a*a%Mod;
k>>=1:

’

ans;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN]|,edge cnt;

void Insert(int u,int v
edge|++edge cnt|=Edge{v,head|u]};
head|u/=edge cnt;

int val[MAXN],in®[MAXN],in1[MAXN],outO [MAXN|,outl MAXN];
int sz[MAXN|,mson/MAXN|,tot sz, root,root sz;
bool vis[MAXN];
void find root(int u,int fa
szlul=1;mson[ul=0;
int i=head|u];1i;i=edge[i].next
int v=edgel[i].to;
vis(v|||v==fa
find root(v,u);
szlul+=sziv];
mson|/u/=max(mson|ul,szlv]);

mson|u/=max(mson|u|,tot sz-szlul);
mson|ul/<root sz
root=u;
root sz=mson|u};

vector<pair<int,int> >vecl,vec2;
void update(int u,int dep,int &pre,int &suf
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pre=(1LL*pre*x+vallul)%Mod;

suf=(suf+1LL*px|dep ! *val|u])%Mod;

vecl.push back(make pair(1lLL*(y-pre+Mod)*invx|/ dep/%Mod,u) ) ;
vec2.push back(make pair((suf-vall|root|+Mod)%Mod,u) ) ;

void dfs(int u,int fa,int dep,int pre,int suf
update(u,dep,pre,suf);
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
visiv!||v==fa ;
dfs(v,u,dep+1,pre,suf);

void cal(int u,int sign,int dep,int pre,int suf
vecl.clear();
vec2.clear();
update(u,dep,pre,suf);
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
vis|iv ;
dfs(v,u,dep+1,pre,suf);

sort(vecl.begin(),vecl.end ;
sort(vec2.begin(),vec2.end ;
int posl=0,pos2=0,cnt;posl<vecl.size();posl++
posl==0]||vecl|posl|.first!=vecl/posl-1|.first)cnt=0;
pos2<vec2.size()&&vec2 pos2|.first<vecl|posl|.first)pos2++;
pos2<vec2.size( )&&vec2|pos2|.first==vecl|posl|.first)pos2++,cnt++;
outl|vecl/ posl|.second|+=cnt*sign;

int posl=0,pos2=0,cnt;pos2<vec2.size();pos2++
pos2==0||vec2|pos2|.first!=vec2/pos2-1|.first)cnt=0;
posl<vecl.size()&&vecl| posl|.first<vec2|pos2|.first)posl++;
posl<vecl.size()&&vecl| posl|.first==vec2|[pos2|.first)posl++,cnt++;
inl[vec2[pos2|.second|+=cnt*sign;

void query(int u
cal(u,1,0,0,0);
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
vis|v ;
cal(v,-1,1,valiul,valiul);

void solve(int u
int cur_sz=tot sz;
vis|/u|=true;query(u);
int i=head|u];i;i=edge[i].next
int v=edgel(i].to;
vis|v
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,
tot sz=sz|v/>sziul?cur_sz-szlul:sz|v|;root sz=MAXN;
find root(v,u);
solve(root);

int main
int n=read _int();

Mod=read int(),x=read int(),y=read int();
_rep(i,l,n)vallil=read int();

_for(i,1,n
int u=read _int(),v=read int();
Insert(u,v);
Insert(v,u);

px =1;

_for(i,1,MAXN)px[i|/=1LL*px[1i-1]*x%Mod;

invx|MAXN-1!=quick pow(px MAXN-1]|,Mod-2);
int i=MAXN-1;i;i--)invx[i-1]=1LL*invx[1i]*x%Mod;

tot sz=n,root sz=MAXN;

find root(1,0);

solve(root);

LL ans=0;

_rep(i,1,n
in@l[il=n-inl[i];
out@[il=n-outlii];
ans+=2LL*in0@[i|*inl[i];
ans+=2LL*out@[i|*outl/i];
ans+=1LL*in0 i *outl|i];
ans+=1LL*inl[i]*out@®[i];

enter(1LL*n*n*n-ans/2);
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const int MAXN=2e5+5;
struct Edge
int u,v;
bool vis;
edge MAXN | ;
vector<pair<int,int> > g/MAXN]|;
int deg[MAXN!,ans,Kk;
bool live MAXN];
void update(int u);
void del(int u
ans--;
live u|/=false;
_for(i,0,glul.size
int v=glul][i].first,edge id=glul[1i].second;
ledge|edge id|.vis
edgeledge id|.vis=true;
update(v);

void update(int u
livelu
deglul--;
deglul<k
del(u);

int main

int n=read int(),m=read int();

k=read int();

ans=n;
_rep(i,1,n)liveli|=true;
_for(i,0,m

int u=read int(),v=read int();
edge/i/=Edgei{u,v};

glul.push back(make pair(v,i));
g/v!.push back(make pair(u,i));
deglu|++;

deg|v|++;

_rep(i,1l,n
live|i|&&deg|i <k
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del(i);
stack<int>s;

int i=m-1;i>=0;1i--

s.push(ans);
edgeli].vis ;

edge/i].vis=true;

update(edgeli].u);

update(edgelil.v);
Is.empty

enter(s.top ;

S.poptl);
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